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intnon DNINYN 1, j .CH+ NIV NPIDIN WOPH 190H TIaY

NN 7172 191N DIWAT ¥ DWONHD THN D2 L7900 TN MNIND 0N sk, s2

T NI2IWRND NI TN PIY WY 12 102 .YOPn 0YDa 991
ININ YOPN DPOI DITY NN (T &) (N

strepy(sl, "ABCD");
strcpy(s2, "abcd"):;
strcat(s2, sl);

cout<<sl<< " "<<g2<<endl;

ININYOPN DYVA DT NN (MM 7) (2

char =
strepy(sl, "ABCD");
strepy(s2, *"abed");

S

= s1;

while{*s) {

}
i

*8 = tolower{*s);
S++;

= gtrcmp(sl, s2);

cout<<"i="<<i<<"\n"<<gl<<g2<<endl;

strcpy(sl, "ABCD');

NP YOPNBPLA 0T D (MM 7) (O

strcpy({s2, sl+l});
for(i=0; s1([il; i++)

- for(3=0; s213); F++)
cout << {(s2([31>s1[1]) ? s2[J]1 : s1[i]);

cout<<endl;
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class Ratio{ '

mtn; //nnn
it d; /mmon

public:

Ratio();

Ratio(int a, int b);

void print() const;

Ratio add(const Ratio &x); /N
Ratio mult(const Ratio &x); /935
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£5-10 mbmu) N3N MINYN 6 PN MORY 3 by b v
(1o 209 5 4900 NYNY

: TINIT PINNT NI
DYINAD DMADN XY MITN HINNNHD IPHY 1NN DN Y nps 100 (X

DWAN DY PPN M) 0P TIoNY 15 1t -9 clk -5 B NDAN AN MININD PN .DWARD
- et

TW P9 127913 TRN (Process) TPomm 1y somnepng nint mon im0k v (M 10 (2

(Entity) pwnmnn nx g nvnd PR LTIN MTipe
library ieee;
use ieee.std_logic_11i64.all;
.entity 4ff is
port (clk, rst: in std_logic;
d: in std_logic;
g: out std_logic);

end;
architecture rtl of 4ff is
begin
precess {clk, rst)
begin
if rst='1' then g<='0";
elsif c¢lk'event and clk = '1l' then
’ g<=4d;
end if;
end process:;
end; )

libraxry iecee; '
use leee.std_logic_ll64.all;
use ieee.std_logic_arith.all;
use leee.std_logic_unsigned.all;
entity testSA is
GENERIC (Size: INTEGER:= 3):
port{d, clk, rst: in std_logic;
q: out std_logic_vector (Size-1 downto 0})};
end;
architecture for_gen of testSa is o
COMPONENT dff
port(d, clk, rst: in std_logic; g :out std_logic);
end component; -
SIGNAL gSig: std_logic_vector (Size-1 DOWNTO 0):
SIGNAL dSig: std_logic_vector (Size-1 DOWNTO 0):
begin
dsigi0)<=4;

{others=>'0")
{others=>'0"'});

out_lcop: FOR i in 0O to gize-1 GENERATE
boxs: dff port map{d=>dsSig(i), clk=»clk, rat=>rst,q=>gSig (i} );
end GENERATE out_loop;
5 z: FOR 1 IN 1 TO size-1 GENERATE
i dsigl{i)<=q¢sig(i-1) AND dsig(i-1};
END GENERATE z;

g<=gSig; end;

'y
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o2 div_by 1290 5S¢ DIIN MY NN XD 0N PNY MINIILN NN DOWNY W
. .count -2
library ieee;
use ieee.STD_LOGIC_1164.all;
use leee.STD_LOGIC_ARITH.all:;
use ieee.STD_LOGIC_UNSIGNED.all;
entity div is
generic (size: NATURAL:= 4);
port {clk: in BIT; rst: in BIT;
input: in std_logic_vector(size-1 downto 0);
div_by: out std_logic);
end div; ' :

- architecture div of div is

signal count: std_logic_vector(size-1 downto 0);

“begin
process (xrst, clk)
begin
if rst = '1' then
count<=(otherg=>'0");
div_by<='0";

elsif clk'event and c¢lk = '1l' then
if count = input - 1 then
count<={others=>'0");

div_by<='0";
else .
if count > SHR(input,"01") then
div_by<='0";
else
div_by<="'1";
end 1if;
count<=count+1;
end- if;
end if;
end process;
end;
6
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DIV Y PAINID N230N DN NORD ¥ RNV NI VD 101NN Nay (MmN 10) (8
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count div_by
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if count < conv_integer(input)/2 then
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library ieee ;
use ieee.STD LOGIC_1164.all;
use ieee.STD_LOGIC_ARITH.all;
use ieee.STD_LOGIC_UNSIGNED.all;
package pack is
procedure cnt(vec: in std_logic_vector;
ones: out std_logic_vector):
end;

O NNTHIET ANNPN NOWI NMOPOUININ. 1N ¥ (N 8) (N

PYNNI YHnNwno X .vec_in nuaam MOPNA DITHND NIODY 12 DYNRYD)

IPIRYNIY PR TN, DMPN

NN Maonwy package body TNz ,cnt owa DTN 2N W (M 12} (2

OMON2 ¥ DYINND 190D NN .IIT NIN 1DNNY ,VeC NOPNI DY INRD 1990
N2°3N3 MNTHON M YHNYND ¢ Ve THINT NNt 1DNIRY ones Nopny -

.(Package)

500N (Bntity) pwnn yond

library ieee; use ieee.STD_LOGIC 1164.all;
use ieee.STD_LOGIC_ARITH.all;
use ieee.STD_LOGIC_UNSIGNED.all;
use work.pack.all;
entity test_procedure is

generic{size: integer:=4);

port{vec_in: in std_logic_vector(size-1 downto 0);

ones_out: out std_logic_vector({size-1 downto 0)});

end;
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. LIBRARY IEEE;

USE IEEE.STD_LOGIC_1164. ALL;

. PACKAGE pkyg IS

COMPONENT Ha .
PORT( a, b: IN STD._LOGIC;
sum, cout: OUT STD_LOGIC);
. END COMPONENT;
COMPONENT Fa
PORT(a,b,c: IN STD_LOGIC;
sum, cout: OUT STD_LOGIC);
END COMPONENT;

‘END pkg;

LIBRARY IEEE;
USE IEEE.STD_LOGIC_1164.ALL:;
ENTITY Ha IS

PORT( &, b: IN STD_LOGIC;

. sum, cout: OUT STD LOGIC);

END ha; '
ARCHITECTURE ha OF Ha IS
BEGIN

sum <= a XOR b;

cout<= a AND b;

"END ha;

LIBRARY IEEE;
USE IEEE.STD_LOGIC_1164.ALL;
ENTITY Fa IS
PORT{ a,b,¢c : IN STD LOGIC;
sum, cout: QUT STD LOGIC) ;
END fa;
ARCHITECTURE Fa OF Fa IS
BEGIN-
"sum <= a XOR b xor c¢: :
cout<= (a AND b) or (a AND c) or (b AND c);
END fa; :



LIBRARY IEEE;
USE IEEE.STD_LOGIC_1164.ALL;
USE WORK.PKG.ALL;
ENTITY cnt IS
PORT (vec: IN STD_IOGIC_vector (3 downto 0);
cres: OQUT STPD_LOGIC_wvector(2 downto 0)}});

END;

ARCHITECTURE struct OF cnt IS

BEGIN .

[ boxl: Ha port map (a=> , o=> ’
sum=> , Cout=> ):

L boxZ: Ha port map (a=> , b=> ;
sum=> ,cout=> )

| box3: Ha port map (a=> , b=> ,
sum=> , cout=> ) :

L ' box4: Fa port map (a=> , b=> .

{ To=> , sum=> ; cout=> )
END; -

+N 8 NYNY My ruAann
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ENTITY testSA IS

PORT( a, b, r, c: IN bit;
y: QUT bit);
END ENTITY:
ARCHITECTURE what OF test9A IS
SIGNAL sigl, sig2, x: bit;
BEGIN }
process{a, b, r, ¢)
begin
if r = '1' then
sigl <= 0'; sig2 <= '0';
elsif ¢'EVENT AND c='1l' THEN
sigl <= x; sig2 <= sigl;
end if; ' ‘
end process;
X<= a OR b;
v<= sig2;
END; ’

ENTITY test9B IS

PORT( a, b, r, c:

v: OUT
END ENTITY: :

1IN TILNND AN PN Y (MM 12) (2

IN bit;
bit);

ARCHITECTURE what OF tegst9B IS
SIGNAL sigl, sig2, x: bit;

BEGIN
process{a, b, r,
begin
if r = "1

c)

then

8ig2 <= '0'; y <= ‘0';
elsif ¢'EVENT AND c='l' THEN
sigl <= x; sig2 <= sigl; v <= sig2;

end if;
end process;
x<= & OR b;
END;

11
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